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AT Hodle AT FLH I EUSRISECTE TR 01 fegwr 182 feadim 364 feaw
1 2 3 4 5 6 7
I 6 3T 2010
wfer 66,371 226 = 3,383 733 16,378
foir =% =Eam 2.00 4.60 - 4.60 4.60 4.50
fodr =% arferem 5.75 535 = 5.75 5.75 5.75
fear erafyr =g 1 1 = 1 1 1
far srafy sifeman 17 3 = 3 3 3
I 13 3N 2010
e 72,235 153 = 4,437 1,662 11,264
fedr &% =gAam 3.50 4.95 = 4.70 4.60 4.60
far =% sifernam 5.80 5.70 = 5.80 5.80 5.80
fear svafey =gam 1 1 = 1 1 1
fear erafyr sifeeram 3 1 = 3 3 3
I 20 3TTE 2010
fer 43,263 62 = 6,088 60 6,167
fear =% =gam 4.50 5.65 = 5.50 5.65 5.55
fdr =% siferrcm 6.00 5.70 = 5.75 5.65 5.75
fear srafyr =gFam 1 1 - 1 1 1
fear erafyr sifemmam 3 2 = 3 2 3
IV. 27 3T 2010
fer 80,253 - - 9,363 2,076 12,678
iy &2 =Fam 2.00 = = 425 1.00 425
fedr =% arferram 7.25 = = 5.70 4.60 5.65
fear arafyr =g 1 — = 1 1 1
fear erafy sifemaw 90 - = 3 3 3
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